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Chile Company issued $1,000,000 of bonds on January 1, 2010.

Instructions
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(a) Prepare the journal entry to record the issuance of the bonds if they are issued at (1) 100, (2), 98, and (3)

103. (12%)

(b) Prepare the journal entry to record the retirement of the bonds at maturity, assuming the bonds were

issued at 100. (4%4°)

(c) Prepare the journal entry to record the retirement of the bonds before maturity at 98. Assume the balance
in Premium on Bonds Payable is $9,000. (4 %)
(d) Prepare the journal entry to record the conversion of the bonds into 30,000 shares of $10 par value
common stock. Assume the bonds were issued at par. (44)

& m o) FHOH|




B b K% 99

FHEEHER i%%fc

¥ 2 A D7)

IR i - X § BEAER 7 B 28 8% 3 & 13:30-14:50

#ta:eitg ()

W ~ (16%)

(52-136)

John, the new controller of Rowen Company, has reviewed the expected useful lives and salvage values of
selected depreciable assets at the begmmng of X8. His findings are as follows.

Type of Date Cost Accumuiated Useful Life in Years | Salvage Value

Asset Acquired Depreciation 1/1/X8 | Old Proposed | Old Proposed
rguildin& 1/1/X2 $2,000,000 $282,000 40 50 | $120,000 |  $90,000

Warehouse 1/1/X3 400,000 76,000 25 20 20,000 24,000

All assets are depreciated by the straight-line method. Rowen Company uses a calendar year in preparing annual
financial statements. After discussion, management has agreed to accept John’s proposed changes.

Instructions

(a) Compute the revised annual depreciation on each asset in X8. (Show computations.) ( 12 %)
(b) Prepare the entry (or entries) to record depreciation on the building in X8. (4 4)
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(A) $2,000 (B) $2,200 (C) $2,250 (D) $2.400 (E) $4,400
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(A) $1,000,000.00 (B) $1,002,533.33 (C) $1,016,266.67 (D) $1,030,000.00
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At June 30, Medland Company has the following bank information: cash balance per bank $3,600;
outstanding checks $280; deposits in transit $550; credit memo for interest $10; bank service charge $20.
What is Medland’s adjusted cash balance on June 30?

(A) $3,860 (B) $3,880 (C) $3330 (D) $3,870
Hilton Company issued a four-year interest-bearing note payable for $300,000 on January 1, 2009. Each
January the company is required to pay $75,000 on the note. How will this note be reported on the December
31, 2010 balance sheet?

( A) Long-term debt, $300,000. (B) Long-term debt, $225,000.

(C) Long-term debt, $150,000; Long-term debt due within one year, $75,000.

(D) Long-term debt, $225,000; Long-term debt due within one year, $75,000.

A 3100 petty cash fund has cash of $17 and receipts of $80. The journal entry to replenish the account wouid

include a ( A ) debit to Cash for $80. (B ) credit to Petty Cash for $83. (C) debit to Cash Over and Short

for $3. (D) credit to Cash for $80.

At the end of the first year of operations, the total cost of the trading securities portfolio is $244,000.

Total fair value is $250,000. The financial statements should show

(A) an addition to an asset of $6,000 and a realized gain of $6,000.

(B) an addition to an asset of $6,000 and an unrealized gain of $6,000 in the stockholders’ equity section.

(C) an addition to an asset of $6,000 in the current assets section and an unrealized gain of $6,000 in “Other
revenues and gains.”

(D) an addition to an asset of $6,000 in the current assets section and a realized gain of $6,000 in “Other
revenues and gains.”
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